
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

9, 967 × ________ = 996.7 1, 708 × ________ = 17.08

9, 296 × ________ = 92.96 1, 504 × ________ = 1504

9, 089 × ________ = 9089 1, 331 × ________ = 133.1

2, 491 × ________ = 249.1 9, 466 × ________ = 946.6

1, 2 × ________ = 120 8, 87 × ________ = 887

8, 306 × ________ = 8306 5, 364 × ________ = 5364

9, 417 × ________ = 941.7 6, 329 × ________ = 6329

6, 652 × ________ = 66.52 6, 707 × ________ = 670.7

6, 994 × ________ = 699.4 3, 132 × ________ = 31.32

7, 348 × ________ = 734.8 3, 748 × ________ = 37.48
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

9, 967 × 100 = 996.7 1, 708 × 10 = 17.08

9, 296 × 10 = 92.96 1, 504 × 1000 = 1504

9, 089 × 1000 = 9089 1, 331 × 100 = 133.1

2, 491 × 100 = 249.1 9, 466 × 100 = 946.6

1, 2 × 100 = 120 8, 87 × 100 = 887

8, 306 × 1000 = 8306 5, 364 × 1000 = 5364

9, 417 × 100 = 941.7 6, 329 × 1000 = 6329

6, 652 × 10 = 66.52 6, 707 × 100 = 670.7

6, 994 × 100 = 699.4 3, 132 × 10 = 31.32

7, 348 × 100 = 734.8 3, 748 × 10 = 37.48
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